Using American Intellectual Union, AIU’s large database of survey responses from the Unit 1 individual project, complete all of the following:

1. Work through a t-test to compare the means of two groups of data. One possible example is to compare the tenure of females to the tenure of males. Select one of the quantitative variables from the Data Set (include all 288 cases) and perform a t-test to determine if the Population mean is equal to 5.0. Ensure that you begin by stating the null and alternative hypotheses. Your final answer should point out if the null is confirmed or rejected and why. Please show as much work as possible. 

2. Work through a chi-square test to compare the expected and observed frequencies of two groups within our Unit 1 data set. One possible example is to compare the actual number of female and male participants in the data set. Ensure that you begin by stating the null and alternative hypotheses. Your final answer should point out if the null is confirmed or rejected and why. Please show as much work as possible. 

DATA SET & TEMPLATE TO USE BELOW

Data Set:

	GENDER
	AGE
	DEPT
	POSITION
	TENURE
	OVERALL
	INTRINSIC
	EXTRINSIC

	2
	2
	3
	2
	3
	6.2
	6.33
	7

	1
	1
	1
	1
	2
	4.6
	3.83
	6.5

	1
	2
	3
	1
	1
	2.4
	5.33
	6

	2
	2
	3
	2
	1
	5.8
	6.17
	3

	1
	2
	3
	2
	1
	2.8
	5.33
	3

	1
	1
	2
	1
	2
	2.6
	5.33
	4

	2
	1
	3
	1
	2
	3.8
	4
	5

	1
	2
	3
	1
	1
	6.6
	6.17
	2.5

	1
	3
	3
	2
	2
	7
	5
	6

	1
	3
	3
	2
	3
	5.4
	6.33
	5.5

	2
	2
	3
	2
	1
	5.6
	5.2
	6

	1
	1
	1
	1
	2
	5
	6.17
	5.5

	2
	2
	2
	2
	2
	4
	5.17
	4

	2
	2
	3
	1
	1
	3.6
	6.67
	6

	2
	2
	3
	1
	2
	4.8
	4.17
	6

	1
	1
	2
	2
	2
	4
	5.17
	5

	2
	2
	2
	1
	1
	4
	4.67
	4

	1
	2
	3
	2
	1
	1.6
	2.67
	4

	2
	3
	2
	1
	2
	6.6
	5
	6.5

	2
	1
	1
	2
	2
	4.6
	4.25
	5

	2
	2
	3
	2
	1
	1.6
	5.17
	4

	2
	2
	3
	1
	1
	2.8
	6.17
	6

	2
	2
	2
	1
	2
	3.6
	6.5
	4

	2
	2
	3
	2
	2
	2
	3.67
	1.5

	1
	2
	3
	1
	1
	6.8
	6.83
	6

	1
	2
	2
	1
	2
	5
	4.83
	5

	2
	2
	3
	2
	2
	2.6
	6
	2

	1
	2
	3
	1
	1
	6.4
	4.5
	6

	2
	1
	2
	1
	1
	4.2
	6
	6

	2
	2
	2
	2
	1
	5.4
	3.17
	5

	1
	2
	3
	2
	1
	4.4
	5
	7

	1
	2
	3
	1
	1
	5
	4.17
	6

	2
	2
	2
	1
	1
	3.8
	4.33
	4

	2
	2
	2
	1
	3
	3.2
	5.17
	1

	2
	2
	3
	1
	1
	5
	5
	4

	1
	2
	3
	1
	1
	7
	7
	7

	2
	3
	2
	2
	1
	4
	5.5
	6

	1
	2
	3
	1
	2
	6.8
	7
	5.5

	2
	2
	2
	2
	3
	3.8
	5.33
	6

	2
	2
	2
	1
	1
	4.6
	4.33
	6

	2
	2
	3
	1
	3
	3.2
	4.67
	4

	2
	2
	2
	1
	2
	2
	3.67
	6

	1
	2
	3
	1
	1
	6.2
	5.67
	7

	1
	2
	3
	1
	2
	4.6
	5.17
	6

	2
	2
	3
	1
	1
	4.8
	5.5
	6

	2
	2
	3
	2
	3
	5.4
	6.17
	5.5

	1
	2
	3
	1
	2
	5
	5
	5

	1
	2
	3
	1
	1
	4.2
	5.83
	6

	1
	3
	3
	1
	3
	4.6
	4.67
	4

	1
	3
	2
	2
	1
	3.2
	3.83
	4

	2
	2
	3
	2
	3
	4
	6.17
	5

	2
	2
	3
	2
	1
	3.8
	6.17
	5

	2
	3
	3
	2
	1
	4.2
	4.5
	6

	2
	2
	2
	2
	3
	5.6
	6
	5

	2
	2
	3
	1
	3
	5.6
	5.83
	6

	1
	2
	3
	1
	1
	7
	6.83
	7

	2
	2
	3
	1
	1
	4.6
	5
	6

	2
	3
	2
	2
	1
	2
	5.83
	2

	1
	3
	3
	1
	1
	2.8
	5.67
	1.5

	1
	2
	3
	1
	1
	3
	4.33
	5.5

	2
	2
	2
	2
	1
	3
	5.24
	6

	1
	1
	2
	1
	2
	4.6
	5.67
	2

	2
	2
	2
	1
	2
	4.6
	5
	4

	2
	2
	3
	1
	1
	5.4
	5.67
	7

	2
	2
	2
	1
	1
	5.2
	6.17
	2

	1
	2
	3
	1
	1
	4
	4.67
	6

	1
	2
	3
	1
	1
	5.2
	5.17
	2

	2
	2
	3
	2
	1
	4.8
	5
	2

	1
	2
	3
	2
	1
	3.4
	7
	6

	1
	3
	3
	2
	1
	3.4
	4.5
	6

	1
	3
	3
	1
	1
	3.6
	5.17
	6

	1
	3
	3
	2
	1
	4
	5.5
	6

	1
	2
	2
	1
	1
	1.8
	3
	3

	2
	3
	2
	2
	2
	4.8
	5
	6

	1
	2
	2
	1
	3
	3.6
	4.83
	2.5

	2
	2
	2
	1
	1
	4.2
	5
	6

	2
	1
	2
	1
	1
	4.8
	4.5
	5.5

	1
	2
	2
	1
	1
	5.4
	4.67
	6

	2
	2
	3
	1
	3
	4
	4.17
	6.5

	1
	2
	3
	1
	1
	4.8
	5.5
	4.5

	1
	2
	3
	2
	3
	4.4
	3.33
	6

	2
	1
	3
	1
	2
	4.8
	5.17
	4

	1
	3
	3
	2
	1
	2
	5
	6

	1
	2
	3
	1
	1
	4.8
	5
	6

	2
	2
	2
	1
	1
	4.6
	6.33
	6.5

	2
	3
	3
	2
	1
	3.8
	6.33
	5.5

	1
	2
	3
	2
	1
	6.6
	7
	5.5

	2
	2
	3
	1
	2
	3.6
	6.67
	6

	1
	2
	2
	2
	3
	2.6
	3.83
	3

	2
	2
	2
	1
	1
	5.4
	5.67
	4

	1
	3
	3
	1
	1
	3.2
	5
	6

	2
	2
	3
	2
	3
	2.4
	5.33
	3.5

	2
	2
	3
	1
	2
	4.6
	4.75
	5.5

	2
	3
	2
	1
	1
	4.6
	4.5
	3

	2
	2
	3
	2
	3
	4.2
	4.83
	4

	1
	3
	3
	2
	1
	4.6
	4.33
	5.5

	2
	2
	2
	1
	1
	3.2
	6.5
	5.5

	2
	2
	2
	2
	2
	4.2
	6
	7

	2
	2
	3
	2
	3
	4.4
	5.5
	7

	2
	2
	2
	2
	3
	3.4
	6.17
	6

	1
	2
	2
	1
	2
	3.2
	4.83
	6

	2
	2
	2
	2
	1
	4.6
	6.33
	7

	1
	2
	3
	1
	1
	5
	4.83
	6

	2
	2
	2
	2
	1
	2.8
	4.33
	5.5

	2
	2
	3
	1
	1
	3.8
	5
	1

	2
	3
	2
	1
	3
	3.8
	2
	1.5

	2
	2
	2
	1
	1
	1
	2
	1

	2
	1
	1
	2
	2
	3.8
	5
	6

	2
	1
	2
	2
	1
	5.6
	6.83
	7

	1
	3
	2
	2
	2
	6
	6.33
	6.5

	1
	2
	3
	1
	2
	2.2
	4
	2.5

	1
	2
	3
	1
	1
	3.4
	4.5
	4

	2
	2
	2
	1
	1
	4.2
	7
	5.5

	1
	2
	2
	2
	2
	4
	4.67
	6

	2
	2
	3
	2
	1
	4.2
	3.5
	1.5

	2
	2
	3
	1
	1
	6
	6.67
	3

	1
	2
	3
	1
	1
	3.4
	5.33
	2

	2
	1
	3
	1
	2
	3.6
	4.83
	4

	2
	2
	3
	2
	1
	3.8
	4.83
	4

	1
	2
	3
	2
	1
	6.6
	6.83
	6

	2
	3
	3
	2
	1
	3.8
	4.83
	7

	2
	1
	2
	2
	2
	4
	4.5
	1.5

	1
	2
	3
	1
	1
	5.2
	5
	6

	2
	2
	3
	2
	1
	1
	5.17
	1

	2
	2
	3
	2
	2
	6.2
	7
	7

	1
	2
	3
	2
	1
	7
	6.83
	6

	2
	2
	2
	1
	3
	5
	3.5
	5

	1
	2
	2
	1
	1
	7
	6.5
	6

	2
	2
	2
	2
	3
	5.2
	5
	6

	2
	1
	2
	2
	2
	2
	5.17
	1.5

	2
	1
	2
	2
	2
	2.8
	4.5
	6

	2
	2
	2
	1
	1
	5.6
	5.33
	5

	1
	2
	3
	1
	1
	2.6
	4.5
	4

	1
	2
	3
	2
	1
	3.2
	4.33
	2.5

	2
	1
	1
	1
	1
	6
	6.67
	6

	2
	2
	3
	2
	1
	3.4
	5.5
	6

	2
	2
	2
	2
	2
	2
	4.5
	7

	1
	2
	3
	1
	1
	6.6
	5.17
	5.5

	2
	2
	3
	2
	1
	6.2
	4.83
	4.5

	1
	3
	3
	2
	1
	5
	5
	2

	1
	1
	2
	2
	1
	2.6
	4
	5

	2
	2
	2
	2
	2
	5
	5.17
	6

	1
	1
	3
	1
	2
	5.6
	5.67
	6

	1
	2
	3
	2
	1
	4.4
	5.67
	6

	2
	1
	1
	1
	2
	3.6
	5
	4.5

	1
	1
	1
	1
	2
	2.2
	4.17
	4.5

	1
	2
	3
	1
	2
	7
	7
	7

	1
	2
	3
	2
	1
	1.8
	4.33
	3

	1
	3
	3
	2
	1
	3.6
	4.17
	6

	1
	2
	3
	1
	1
	4
	5.17
	2

	2
	1
	1
	1
	2
	6.2
	6.33
	5.5

	1
	2
	2
	1
	3
	5.8
	5.83
	5

	1
	2
	3
	1
	1
	4.6
	6.17
	3

	2
	2
	3
	1
	1
	4
	4.67
	4

	1
	2
	3
	1
	1
	5.8
	6.17
	7

	2
	2
	2
	1
	1
	5.4
	4.83
	6.5

	2
	1
	2
	2
	3
	3
	3.67
	4

	2
	2
	3
	2
	1
	5.8
	5.67
	7

	2
	2
	3
	2
	1
	3.2
	5.33
	1.5

	1
	1
	2
	1
	1
	2
	4.67
	2.5

	1
	3
	3
	1
	1
	4.6
	5
	6

	1
	1
	3
	2
	1
	4
	5.33
	6.5

	1
	2
	3
	1
	1
	3.4
	4.67
	6

	2
	3
	3
	2
	1
	3.4
	6.33
	4

	2
	3
	3
	2
	3
	4.4
	5.3
	5

	2
	2
	3
	1
	3
	6
	7
	3

	1
	3
	3
	1
	3
	5.2
	5.67
	5.5

	2
	2
	3
	2
	3
	6
	6.83
	6

	1
	3
	3
	2
	3
	5.6
	5.83
	6

	2
	3
	2
	2
	3
	7
	7
	1.5

	1
	3
	3
	1
	3
	1.8
	5.33
	5.5

	2
	1
	1
	2
	2
	4
	3.5
	3

	2
	2
	3
	1
	1
	3.8
	5.5
	4

	2
	2
	3
	2
	2
	5
	3.17
	4.5

	2
	2
	3
	2
	1
	3.2
	5.33
	4.5

	1
	2
	3
	1
	1
	2.6
	5.67
	6

	2
	3
	3
	2
	1
	2
	5.67
	6

	2
	2
	2
	2
	2
	3.6
	5.33
	3

	1
	2
	2
	2
	1
	5.6
	5.67
	4.5

	1
	2
	3
	1
	1
	4.8
	4.33
	6

	2
	2
	3
	2
	3
	5.4
	5
	6.5

	2
	2
	3
	1
	1
	6
	5
	7

	2
	2
	3
	1
	1
	4.4
	5.33
	4.5

	1
	1
	3
	1
	1
	4.2
	4.17
	5

	2
	2
	3
	1
	1
	4.6
	5.33
	6.5

	2
	1
	3
	1
	1
	4.2
	5.67
	4

	2
	2
	3
	1
	1
	5.8
	6.33
	6

	1
	1
	2
	1
	2
	3
	4.67
	6

	2
	2
	2
	1
	1
	2.2
	1
	1

	1
	3
	3
	1
	3
	5.2
	4.33
	4

	2
	2
	3
	1
	2
	1
	4.67
	5

	1
	2
	3
	2
	1
	4
	4.5
	6

	1
	2
	3
	2
	3
	2.2
	6.17
	1.5

	2
	2
	3
	1
	1
	6
	6.67
	5

	2
	2
	2
	1
	1
	5.6
	6.33
	6

	2
	2
	3
	2
	1
	5
	7
	2.5

	2
	2
	2
	2
	3
	4.8
	4.67
	4

	1
	3
	2
	1
	1
	6.2
	4.83
	4

	2
	3
	2
	1
	3
	1
	5
	1

	2
	2
	3
	1
	1
	5
	5
	7

	2
	2
	3
	1
	1
	4.4
	6.5
	5.2

	2
	2
	3
	2
	2
	5.6
	5.83
	5

	2
	1
	2
	2
	1
	5
	5.17
	4

	1
	3
	3
	1
	1
	4
	5.5
	6

	2
	2
	2
	1
	1
	4.6
	5.33
	3

	1
	1
	3
	1
	2
	5.8
	7
	5.5

	2
	3
	3
	1
	3
	2.4
	4.33
	6

	1
	1
	2
	2
	3
	3.8
	3.83
	3

	2
	2
	2
	2
	3
	4.2
	4.67
	3

	2
	1
	3
	1
	1
	3.8
	6
	6

	1
	2
	3
	2
	1
	4.8
	4.33
	6.5

	1
	2
	3
	2
	1
	3
	5
	6

	1
	2
	3
	1
	1
	4.8
	6.33
	6.5

	1
	1
	3
	1
	2
	2.8
	5.5
	5.5

	2
	1
	3
	1
	1
	5.4
	5.33
	6

	2
	2
	3
	2
	3
	3.2
	3
	6

	2
	1
	3
	1
	1
	6.2
	6.33
	6

	2
	2
	3
	1
	2
	6.2
	5.67
	2

	1
	2
	3
	1
	2
	7
	6.5
	6

	2
	2
	3
	1
	1
	5.6
	6.17
	6

	1
	3
	3
	1
	1
	4.6
	5
	6

	1
	2
	3
	1
	1
	4.6
	4.5
	4.5

	1
	2
	3
	2
	1
	2.8
	5
	1

	2
	2
	2
	2
	2
	4.4
	3.5
	4.5

	2
	2
	2
	1
	1
	5.8
	4.17
	5

	2
	2
	2
	1
	1
	4.6
	5.17
	3

	1
	2
	2
	2
	1
	4.8
	5
	7

	2
	2
	1
	1
	1
	4.2
	7
	5.5

	1
	3
	2
	2
	2
	5.2
	6
	5.2

	2
	1
	2
	1
	1
	2.2
	5.17
	5.5

	2
	1
	2
	2
	1
	6
	5.33
	7

	2
	2
	3
	1
	3
	3.4
	4.5
	6

	2
	2
	2
	2
	1
	3.8
	5.17
	6

	2
	1
	2
	2
	2
	3.6
	6
	7

	2
	2
	3
	2
	1
	5.4
	4.5
	7

	2
	2
	3
	2
	1
	4.2
	6.33
	6

	1
	2
	3
	1
	1
	5.2
	5.33
	5.5

	2
	2
	2
	1
	1
	4
	6.33
	2.5

	2
	2
	2
	1
	1
	5.8
	7
	6

	2
	1
	2
	2
	1
	1.8
	3
	4

	2
	2
	2
	2
	1
	2
	7
	6

	1
	1
	2
	1
	2
	3.6
	4.17
	4.5

	2
	2
	3
	1
	2
	4.6
	4.17
	6.5

	2
	2
	2
	2
	1
	3.2
	5.17
	5.5

	1
	2
	2
	2
	1
	5.8
	4.67
	5

	1
	3
	2
	2
	1
	2.6
	5
	1

	2
	1
	2
	2
	2
	4.8
	6.83
	6

	2
	2
	2
	2
	2
	4
	4.5
	4

	2
	2
	2
	2
	2
	3.6
	4.17
	2

	2
	2
	3
	1
	3
	5.8
	5
	6

	1
	2
	3
	2
	3
	1.8
	5.33
	6

	1
	3
	3
	1
	1
	5
	6.17
	7

	2
	2
	3
	2
	2
	1.8
	4
	1

	2
	2
	3
	1
	1
	6.2
	7
	5.5

	2
	2
	3
	2
	1
	2
	5.33
	1.5

	1
	1
	3
	1
	1
	4.6
	5
	3.5

	1
	3
	3
	2
	1
	6
	6.17
	6.5

	2
	2
	3
	1
	3
	6.2
	5.67
	4

	2
	2
	3
	1
	3
	5.8
	5.83
	6

	1
	3
	3
	2
	1
	3.4
	6.17
	5.5

	1
	3
	3
	1
	1
	6.2
	5
	6

	1
	1
	2
	1
	2
	1.6
	5.67
	5

	2
	1
	3
	2
	1
	5.8
	5.83
	3.5

	1
	2
	3
	2
	1
	4.6
	4.5
	5.5

	2
	2
	2
	1
	1
	5.8
	6
	5

	2
	2
	3
	1
	1
	3.6
	5
	4.5

	2
	3
	2
	2
	3
	4.4
	4.17
	3.5

	2
	2
	3
	2
	3
	5.8
	5.5
	6

	2
	2
	1
	2
	3
	4
	4.17
	4

	1
	2
	3
	1
	3
	5.4
	5
	6

	2
	1
	2
	1
	2
	5
	5.33
	5.5

	1
	2
	3
	1
	1
	4
	4.33
	6

	2
	2
	3
	1
	1
	2.8
	4.5
	1

	1
	1
	3
	1
	1
	5.5
	5
	6

	1
	3
	3
	2
	1
	5.2
	4.67
	6

	1
	2
	2
	1
	2
	3.8
	5
	5.5

	2
	1
	3
	1
	1
	5
	6.17
	7

	2
	2
	2
	1
	2
	4.2
	4.83
	4.5

	2
	2
	2
	2
	1
	4.8
	6.33
	5

	2
	2
	3
	1
	1
	4
	5
	7

	1
	2
	2
	1
	1
	4.6
	3.67
	6

	1
	2
	3
	1
	3
	5.2
	6.33
	6

	2
	2
	3
	1
	2
	2
	4.83
	6.5

	1
	2
	2
	1
	2
	6
	6.17
	1

	2
	2
	3
	1
	1
	4
	3.67
	7

	2
	2
	3
	2
	2
	4.6
	6.5
	5.5

	2
	2
	3
	1
	3
	3
	3.67
	5

	1
	3
	3
	1
	1
	5.4
	5.67
	6.5


Please use this template. Clearly show all formulas used in the assignment.

	Assignment section to be answered
	Type your answer in this column
	Points assigned


	1)  Using the entire dataset of 288 responses, work through a t-test to compare the means of two groups of data that you pick (e.g. tenure of males to tenure of females) by following steps noted below:
	

	1. Name the two groups picked
	
	5

	1.a.The Null Hypothesis (in equation format)
	
	10

	1.a.The Alternate Hypothesis (in equation format)
	
	10

	1.a.The significance level
	
	10

	1.b.The t-test statistic 
	
	10

	1.c.The critical t
	
	10

	1.d. Conclusion and explanation:  (We reject OR we fail to reject the Null and why)
	10

	2)  Carry out chi-square test to compare expected and observed frequencies of two groups from entire Unit 1 dataset of 288 responses, by following steps noted below:
	

	2.a. Name the groups chosen for the test:
	5

	2.b.The Null hypothesis (in equation format)
	5

	2.c.The Alternate Hypothesis (in equation format)
	5

	2.d.The calculated Chi Square test statistic
	
	20

	2.e.The Critical Chi Square  
	
	10

	2.f.Conclusion and explanation:  (We reject OR we fail to reject the Null and why)
	
	10

	Show here, all your work that is not shown above, in arriving at your results.
	
	

	Definitions (in your own words) of all terms relevant to assignment
	
	10

	Careful use of assignment template
	
	10

	Bibliography
	10

	Total: 150
	


